BHhER IR A £ th PR 22 55 ]

W AP ER AR DBEE (Nexcomam ) R7.3.3157
. SEEG | BEM) | HEEE | EBRS
B RIEBHRIRE 256.8 220 H16.3.27 i3 100
AABHEBRE READR = xomem @2  amm  (@EER (80)  (—80)
s i B EEHER) B H1.11.30
FEHRER = iR AIEAT 105 (2R{HA) 70
FEAMEEEE B R AEET 38.9 HRE2ER H22.3.20 13
(—HEEE4973) pman T (R T TR (34.1) (2t (80)
B i RTEEET 20.5 H23.9.13 80
= fial] 4588 (2i4tR)
AKX B HEHZRREMHA 18.5 $42.11.17
BB/ E  RIETHIBHE 151 4R (—#8) 1-4 60
(—HRTEE 34 ) Bxp B EEW)ITE : 920 H3.3.27 (60)
F RIBHELE 25 (&)
W{E AP EEOBLE swaEsnit) R7 3,315
HER(+) == .
=0 | wE | smms | BT |EBEs| aR | ZEs
NSRS B EREEREEETAS 47 14
(—HRE:E2062) = El&T)I|TET 13_(233 6.5 $63.7.2 R10.7.1 (60) 60 210
EE—ILS  EREE B (RIS 50 13
(—ﬁﬁz/oz%) T EmeTREID a8 70 HI130  R11418 oo 70 200
GHEEHBHER B REHHUET 3.4 1-4
(—fREE3242) = EIAHSIRET 129 13.0 H16.3.27 R16.3.26 (60) 60 100
BASELBARGESR B RIBTHASET 19 32
EEHSEEBEEERS) = EIHEE B-1.6 13.0 H17.12.11 R17.12.10 60) 60 100
L . {Qﬁ) w 55/ N— IV 51> A F B
& &“g% S 71
L ”_I_'ﬁ & v i N
G CAC AN f # R
7: x)‘ 2 m;%m / “\4 :F )E 1%%3569} 1E#FEﬁ40$J\ 4953\
4 \
£ WO IER46n  1BERI30% 395
“*ﬁ*- NYZRFURR  1ERI119 55% 1843
ke o AN BEZDEIC 369 219 405
i oL I (e HRTIP) KAIC 284 134 485
FREIC 215 205 55493
= 215 4159 18RI 215
18509155 RIGZEE K#F 1BFRA05%>  1RERE 255 535
EHEEJCT 485> 309 309

E R 1B5R926%>  1B5R925%  285R900%
=T 1B5RA265>  1BERN25%  2B%RE00%
(RIS N E 1B5RE074  1BERA06%>  1B5RE42%
Az 1B5RA38%  1BSRN37S  2B%FEH13%

XETERE -SAURER  EERERE
-EIRE  SHB3FEESEER-HIREESAE I RMRIMTERE
- ZOABOIER : 25km/ h

TI1&FT-ZE B ORITERE



